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34| 1368|f@IE 7375 (2) L5 Pl 13.02 (+2.0) 6 3
35| 6317/: .10 E¥R(2) L5 EEf 13.04 (+0.8) 3 7
36| 1742|F%@A #HE Q) L5 DEL 13.10 (+2.0) 6 4
37| 4667|1148 Z(2) L5 B ch 13.12 (+2.0) 6 5
38| 8209|ixO wH (2) L5 =% 13.13 (-0.2) 10 2
39| 14271|8i2 1&AE (2) L5 TiEmSP 13.19 (+0.8) 3 8
40] 7978|AFE XiE(2) L5 J\kh 13.21 (+2.1) 7 2
41 6590/l & (2) =] K fEF 13.22 (+0.9) 4 7
42 618 ElR HIK(Q) L5 FaH 13.25 (+2.0) 6 6
431 24458 A HE3} (2 =] tE$ 13.28 (0.0) | 8 1
44] 6591 EAE #&E Q) LE KB EES 13.33 (+2.0) 6 7
45| 1307|T%& Ek (2 =] TRE g 13.36 (+0.5) 5 5
46] 93919|%HE 47 (2) LE FUVE" 777 32 13.40 (0.0) | 8 2
47| 3445|515 [F (2) =] & i th 13.42 (+2.1) 7 3
48] 174415WzF w3 Q) =] a] &R ch 13.43 (+2.1) 7 4
49] 93876|Ex FK () =] HIUE 777 32 13.44 (+2.0) 6 8
50| 7979|AF XIE() =] J\Z& 13.46 (+2.1) 7 5
51| 2454|HEH FE(2) LE [tE 13.47 (0.0) | 81 3
51] 2666 ILA&x &EHE Q) =] KEFEFH 13.47 (+0.5) 5 6
53| 3443|x[F X#t(2) =] D 13.50 (+2.1) 7 6
54| 1367|iM:= E40)) LE Pl 13.54 (+2.1) 7 7
bb| 2664 |3 FF FHFiIE(2) =] pNSELE 13.65 (+0.5) 5 7
56| 1426|dh7g 15 (2) =] TlEmS 13.70 (+0.5) 5 8
57| 2802|#xAK  K#t (2) =] R 13.80 (0.0) | 8 4
b8| 7245|kREE EH (2) =] #HLEH 13.82 (+1.4) 9 1
59| 7812|F%E HHBQ) =] ERch 13.87 (0.0) | 8 5
60| 7250/1E &< KE1E (2) =] #HLEH 13.98 (+1.4) 9 2
61| 1428|/)\K &K (2 =] ZiEET 14.00 (0.0) | 8 6
62| 3447HAK EHEQ2) =] BRh 14.05 (+1.4) 9 3
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66| 3444 FHF—2) L5 D 14.24 (+1.4) 9 6
67| 4671|RA K2 L5 3 N sl 14.30 (-0.2) 10 3
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P 4h9 a4t afhH +0. 6 +1.6 +1.9 +1.9
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22 6| 3M47HhAK EHE () LE 3. 68 3.66 3. 87 3.87 |1nER 3.68
WEL NF 4 +0.7 +1.7 +3.7 +3. 1 (+0.7)
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2 4] 4586[1ILA  #EE(3) LE 11.23 2 3| 6586|%#H EA®) PN 11.88
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3 6] 7331|1FxHE %3 LE 11.35 3 5] 1303|FHETEEAXER (3) PN 12.00
235" kA EXRfEL 13F f4409 TRE A
4 5] 2262|ILA ZE®Q) LE 11.37 4 8] 2261[fE )1 B3 PN 12.22
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Thhs 44 REFFH Thh3 ¥a9ah TYvE' 77° 32
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#9853 RiIdh 510 Y4 ik
3 7] 1304[thE mMm&EQ) LE 12.52 3 5| 22333 HER®Q) PN 12.43
1593 29y ke 751N Ut HAHFE
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3 6] 7964[ILO A Q) LE 12.91 3 3] 2293|FIE ES Q) L5 13.49
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4 2] 2231/ KE 3} Q) LE 13.03 4 2| 1362|FHE #(3) LS 13.52
15 b HAHMHS V4 EE# Fiig
5 1 2267\ EEQ) |LE 13.26 5 6| 22k HwH Q) |LE 13.83
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47 7477 TIUE" 77° 52 Ri5 AING T1Y g
8| 1563|=H EQ) |LS 5| 1TRBIMEEZNQ) BB
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2] 3] 2MX¥  HQ0Q |LhE 13.54
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3 6] T811[IEE ZEQ) |[LB5 13.91
W h BhiF EAR
4 5| 6/4EAX =B |EB 1423
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1791 MV73 HEG
4] 343B|EAX FEQOG) |LES
A ER V% MR Ri5
8| 8201/lx  HKQ) |EB
59 van4 =2 Ri5




FFA
100m

BALL—R
IEGZ] No. E % HEFE rE4 gk (B | &5 $# [IERL
1] 2235 =EH Q) =] HBTHH 11.19 (+0.2) 1 1
21 4586 1LO  #HYE (3) =] J\AEdh 11.23 (+0.2) 1 2
3] 7331/4FH % Q) LE ERfELG 11.35 (+0.2) 1 3
4] 2262[1lLE&x ZE Q) =] FEHWHEF 11.37 (+0.2) 1 4
5] 93922 |FHMEEEN/DL Q) LS FIVE 777 3R 11.84 (-2.6) 2 1
6] 6586|=#FH EAQ) =] K FES 11.88 (-2.6) 2 2
7| 4181 |p#F Z0) LE Gk 11.99 (+0.2) 1 5
8] 1303|HATEXER(3) LE TEkE g 12.00 (-2.6) 2 3
9] 1301|FE &EAQ) =] TRkE g 12.01 (+0.2) 1 6
10| 93609 | & E E@3) =] I2oAL»TC 12.04 (-0.1) 3 1
11| 5061[#&Ek F#RE Q) LE RiIg 12.12 (-0.1) 3 2
12] 2261 /{E)11 Q) =] FEHWEF 12.22 (-2.6) 2 4
121 93879 &F A Q) LE FIVE 777 3R 12.22 (-2.6) 2 5
14] 1272]7 K F#H (3) LE Tt 12.34 (+2.0) 4 1
15| 3438|H BTN (3) LE G 12.42 (+2.0) 4 2
16] 2233 IR Q) =] =l 12.43 (+2.0) 4 3
16| 1543|&F EBHF Q) LE REH 12.43 (-2.6) 2 6
18] 4846|FH FAOQ) LE SRIAh 12.46 (+2.0) 4 4
19] 1304[#x2 M&E Q) LE TRkE & 12.52 (-0.1) 3 3
20] 1306|#fE ZE¥EQ) LE TRE & 12.54 (+0.8) 5 1
21| 1305|=;j K& (3) LE TRE g 12.56 (-0.1) 3 4
22| 2441NIAX  HHQ) LE +tEH 12.57 (+0.8) 5 2
23] 17122 K& 5% (3) =] BELT 12.59 (+1.3) 7 1
241 1361 |k E{6)) LE Pl 12.65 (+2.0) 4 5
251 7964/ lLO WA Q) LE J\x 12.91 (+0.8) 5 3
26] 2231 KA 3} Q) =] =l 13.03 (+0.8) 5 4
27 226708 E&E®R) L5 FATREF 13.26 (+0.8) 5 5
28] H442| K #E& Q) LE REl4zs) 13.32 (+0.6) 6 1
29| 3437 &+ HIE(Q) LE D 13.39 (+0.6) 6 2
30| 2293[&EkF &EH (D) LE fS L] 13.49 (+0.6) 6 3
31 1362|ZMA E-J6)) LE Pl 13.52 (+0.6) 6 4
32| 1271 K% % (3) LE ZHat 13.54 (+1.3) 7 2
33| 282k B/ Q) L5 #HiLEH 13.83 (+0.6) 6 5
34| T811[4#EA ZHE Q) L5 ERg 13.91 (+1.3) 7 3
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36 674 | #(3) LE Famh 14.23 (+1.3) 7 4
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